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22, Closest point on a line What point on the line v = 3x + 4 is closest to the origin?
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33. Maximum-volume con

constructed by cutt

ting a sector from a circular
and welded (see figure). Find th

sheet of metal with radius 20. The cut sheet is then folded up
the radius and height of the cone with maximum volume that can be formed in this way.
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40. Folded boxes
a. Squares with sides of length x are cut out of each comer of a rectangular piece of cardboard measuring 5 ft by & ft. The resulting piece of
cardboard is then folded into a box without a lid. Find the volume of the largest box that can be formed in this way.
b. Sguares:
open box that can be formed in this way.

ides of length x are cut out of each comer of a square piece of cardboard with sides of length /. Find the volume of the largest
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45. Maximum-volume cvlinder in a sohere Find the dimensions of the right circular cdinder of maximum volume that can be olaced inside of a l
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45, Maximum-wolume cylinder in a sphere Find the dimensi 1 the right circular cylinder of m: axlmum wolume that can be placed inside of a
sphere of radius R.
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